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Guess Paper – 2010
Class – XII
Subject – Mathematics
Time:- 3 hours                                                                      Maximum Marks- 100

General Instructions:-

i) All questions are compulsory

ii) The question paper consists of 29 questions divided into three Sections A, B, C. Section A comprises of 10 questions of one mark each, Section B comprises of 12 questions of four marks each and Section C comprises of 07 questions of six  marks each.

iii) All questions in Section A are to be answered in one word, one sentence or as per the exact requirement of the question.

iv) There is no overall choice. However, internal choice has been provided in 04 questions of four marks each and 02 questions of six marks each. You have to attempt only one of the alternatives in all such questions

v) Use of calculators is not permitted. You may ask for logarithmic tables, if required.

Section- A

1) If f(x) = [image: image2.png]


 , ( x[image: image4.png]I



 0) and g(x) =x2 – 1 are two real functions, find fog and gof.

2) Solve for x, [image: image6.png]in~1 =%
ey



 + [image: image8.png]


 = 2 [image: image10.png]tan™’



 

3) A matrix A of order 3 X 3 has determinant 22. What is the value of [image: image12.png][44]



 ?

4) For what value of x, the matrix [image: image14.png]1+x 7
3-x 8



 is a singular matrix ?

5) Without expanding evaluate: [image: image16.png]


 

6) Evaluate: [image: image18.png][ tan™* (cotx) dx



 

7) How will you proceed to evaluate : [image: image20.png]12,
I
| dx



 

8) Show that [image: image22.png]e

|a +3|



 = [image: image24.png]


 + [image: image26.png]


, if [image: image28.png]


 and [image: image30.png]


 are along adjacent sides of a rectangle.

9) If [image: image32.png]lal



 = [image: image34.png]


 , [image: image36.png]|B]



 = 2 and [image: image38.png]


 . [image: image40.png]


 = [image: image42.png]


 , find [image: image44.png]la x bl



 

10) Find the distance of the point ( 2, 3, 4) from the plane [image: image46.png]=1



.(3[image: image48.png]


 - 6[image: image50.png]


 + 2[image: image52.png]


 ) = -11

                              Section- B
11) Let f: W [image: image54.png]


 W be defined by [image: image56.png]f {n{»l, if niseven
) =ln_1 if nisodd



 . Show that ‘f’ is a bijective function.

12) If [image: image58.png]tan™’



 + [image: image60.png]


 + [image: image62.png]tan™’



 = [image: image64.png]


 , prove that x + y + z = xyz

                                        (OR)

[image: image66.png]Solveforx: tan™'(x+1)



 + [image: image68.png]tan™! (x— 1)



 = [image: image70.png]tan™




13) Using properties prove that [image: image72.png]


 = abc + ab + bc + ca

14) Determine the value of a, b and c for which the function [image: image74.png]f)

sin(a+1)x+sinx

x<0




  may be continuous at x = 0.
15) If y = [image: image76.png]


 + x [image: image78.png]


 ), then prove that [image: image80.png]


 = [image: image82.png]


 + [image: image84.png]


 

                                                 (OR)

If y = Aemx + Benx , prove that [image: image86.png]


 - ( m+ n) [image: image88.png]


 + mn y = 0

16) Show that the line [image: image90.png]


 = 1 touches the curve y = b [image: image92.png]


 at the point where the curve cuts y- axis.

                                              (OR)

Find the interval in which the following function is strictly increasing or strictly decreasing f(x) = x4 – 8 x3 + 22 x2 – 24 x + 21

17) Evaluate: [image: image94.png]ycos2x




 dx

                                             (OR)

[image: image96.png]x°-1
[ o



 dx

18) Show that the family of curve fro which the slope of the tangent at any point ( x, y) on it is [image: image98.png]Xy
2%y



 , is given by x2- y2 = cx

19) Solve the differential equation [image: image100.png]ax



 = [image: image102.png]x (2logx+1)

siny+y cosy



 

20) If [image: image104.png]


 = 4[image: image106.png]


 + 5[image: image108.png]


 - [image: image110.png]


 , [image: image112.png]


 = [image: image114.png]


 - 4[image: image116.png]


 + 5[image: image118.png]


 , [image: image120.png]


 = 3[image: image122.png]


 + [image: image124.png]


 - [image: image126.png]


 , find a vector [image: image128.png]


 , which is perpendicular to both [image: image130.png]


 and [image: image132.png]


 and [image: image134.png]


.[image: image136.png]


 = 21

21) Show that the lines [image: image138.png]


 = [image: image140.png]


 = [image: image142.png]


 and [image: image144.png]


 = [image: image146.png]


 = [image: image148.png]


 intersect. Also, find the point of intersection.

22) A candidate has to reach the examination centre in time. Probability of him going by bus or by scooter or by other means of transport are [image: image150.png]


 , [image: image152.png]


 , [image: image154.png]


 respectively . the probability that he will be late is [image: image156.png]


 and [image: image158.png]


 respectively, if he travels by bus or by scooter , but he reach in time if he uses any other mode of transport. He reached late at the centre. Find the probability that he travelled by bus.

23) If A = [image: image160.png]


 , find A-1 and hence solve the following system of equations:                         3x – 2y + 3 z = 8                                                                                                                                                2x + y  - z = 1                                                                                                                                              4x – 3y + 2 z = 4

                                                      (OR)

Using elementary transformations, find the inverse of the matrix, A = [image: image162.png]



24) Prove that the radius of the right circular cylinder of greatest curved surface area which can be inscribed in a given cone is half of that of the cone.

25) Find the area of the region enclosed between the two circles x2 + y2 = 1 and                         (x – 1) 2 + y2 = 1

26) Evaluate [image: image164.png][2 sin’s



 dx as the limit of sums

                                                     (OR)

Prove that [image: image166.png](Vianx + yeotx



 ) dx = [image: image168.png]/2



 

27) Find the image of the point ( - 1, 2, 3) in the line [image: image170.png]


 = [image: image172.png]


 = [image: image174.png]


 
28) Two godowns A and B have grain capacity of 100 quintals and 50 quintals respectively. They supply to 3 ratio shops D, E and F whose requirements are 60,50, 40 quintals respectively. The cost of transportation per quintals from the godowns to the shops are given in the following table:  
	Transportation cost per quintal ( in Rs.)

	From / To
	A
	B

	D
	6
	4

	E
	3
	2

	F
	2.5
	3


 How should the supplies be transported in order that the transportation cost in minimum ? What is the minimum cost ?

29) Let X denote the number of hours you study during a randomly selected school day. The probability that X can take the values x, has the following form, where k is some unknown constant. [image: image176.png]o
keifx=1or2 x 20
k(5 —x),ifx=3o0r4
o0, otherwise

P(x=1x) =



  

a) Find the value of K 

b) What is the probability that you study i) at least two hours ?  ii) Exactly 2 hours ? iii) At most two hours ?
Prepared by – Mr. Anirban Nayak     

     PGT, Mathematics , DPS, Jodhpur

Mobile no.- 09828353006, 02912717274
-------------------------------------------------------------------------------------------------------
www.cbseguess.com
Other Educational Portals
www.icseguess.com | www.ignouguess.com | www.dulife.com | www.magicsense.com

[image: image177.png]